Retirement Example 5 (Geometric Gradient Series) UPDATED

RETIREMENT

BECAUSE YOU'VE GIVEN 50 MUCH OF YOURSELF TO THE COMPANY THAT
You Don't Have ANyTHING LEFT WE Can Use.

When you leave here, your starting salary will
be somewhere around $60,000 per year.

Let’s assume that your salary will rise by 4%
per year on average throughout your working
career.

If you put 10% of your salary annually into a
retirement account paying interest at a rate of
7% per year, how much will you have to retire
on after 40 years of saving?



